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‘His separation’; it should belong to him — N7 R 1M

Overview

X701 M explained that the reason why 1™ is X172 Mn for a 7°11, according
to 172X "M (what maintains that all 7%°9X *10°R include X317 O°R), is because
the 770 expressly permitted the 7°11 to have 1X17 from 1 by stating (an extra
word) 1773, Our Mo01n discusses how °p1n deals with this extra word "712'.

nvoIn asks:
— NON INNIY 19T NPINY NN

It is astounding! According to 9Pt (that 70%> XY means only 719°2R T0°X),

what is the word "*912' coming to teach us?! According to 7°p1 there is no need to
teach us 1IR3 707 since it does not state (7"17% 7""277) 298>, The word 1711 is superfluous!

MH0IN answers:
221N 199513 9 AN 139N 2N 1191 Y Y0917 D190 FON)

And some texts read; (that according to P11 the word 1771 teaches that) he
shaves only for his n19°12, but he does not shave for a n1911 of his father.

Summary
According to 7117 the word 1711 excludes 1°ax 777

Thinking it over
Those who rule that Yax M1 %9 11231, do they maintain that 980 XY is an
71298 MoK only or also X1 MOK?*

"y311 — his M1, excludes the m=n1 of anyone else (including his father’s).

% The term m2an refers (also) to the bringing of the 7°11 m127p after the term of N17°11 ends.

® This may be referring to the 73w (in 7°11 n2on) on X,7 (and the Xn>>72 on 2,7) where there is a NPY?n» in a
case where the father was a 771 and set aside monies for his M129p and he died; whether the son can
become a 7°11 and use his father’s nia7p. 7pin will follow the view of those who maintain that he cannot.
That is the meaning of Yax m7°11 2y 1231 1K Alternately it may refer to the 73wn in 2,m5 711 that a father
may impose M7°11 on his son who is still a 1op (and P11 disagrees)..

* See 0"wi 1193 and 2P MK N1 2"n.
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